AvG137/WF228 -0
/p\a.ua_:\g with T and \ ‘

This nrote is Jus-{ For the record, adding
@ few more samples to our collection c{l
Sim]a\e calculational Proo{-’s in .e\eme.n{:o.r‘fj
mathematics, This time we are concerned
with  the relabions between the maximum (T)
and the absclute -value X_)u.nc:%'ow C1)) .

& caleulationally nice definition of
-l s the follewing

(O) \Xl = x T - x

With ik — and Pro(:'arjrie_-? af T, DF Course —

Wwe can prove Properéles ke

(1) Ix| = o

(2) Ix| = (xTo) + (-xTo)

() Mxll = | xl

@) Ixb gl = Ixegl T ooyl

let wme calculate (@) , which is a nice

Pr"op-e(l:fj) because the -Er{amaular ihec{\/waliét:)
?o\\ows ?rom .
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x|+ 1y
= {del 113
xT-x) + (yT-y)
= 4+ over 17

(><+l:)) T (x-y) T(—-x-uj) T mewtj\

= { reslnu,{:\?\i'nﬂ and de(‘ | Ia
b+ y) T Ix-yl

Now let’s deal with some other Prc:lo]ems
w\mc\f\ come up @\A.L\"H’la oL c:liSC.u_SS!Oh \Jif:l« Jome
C.ol\ea% wes . Here is “the @rs’r Cbmemlwon h

For what values o‘{-’ x anhd Y s it tvue that

(5) xTy = Ixtg] + I x-9) 7
2

Se we start calc.ul.o,{img with the rfﬂkt—hquc{
side, finding
Ix+yl + \x-g)
b))
l2xl 7 12-«3‘
= { 2 over Il and T3
2- (11T 1yl)

il
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QpparenH% we’'ve prove_c\=

(s)
a|£\aou8‘n Jc‘qe riql«L~lq_amcl Side c:? HniS equivalehm

s indeed, a sme\prcaJr'.om c;_(; (‘.—3) , we wam{l

to s'amt:\(@j ta litkle ?u.rﬂqer’ shill.

il

X'T:j = lx\T lbl ;

xTy = Ixl Tyl
= { exit 1]
xTy = xT-x Ty T-y
= {resheffling; using a=als = a=bj

XT% z ""XT-L:)
§ - over T3
XTEj ,>f *(X‘Llﬂ)

i

(H)

{. Sl‘\u.n )thC:] 3

(x’rl.j)+Q<\\/‘j) 2 0
{’T/n& selectovs

I

X-i'l:) z 0
So we have

(&) XTU = |xl Tltjl E X+ 4 z 0
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We Cou_‘d consider C‘S) as an mu.nsucaess]cu.i‘——
c;onjec,l:u,re of how T canw be e,xf:rassed
in ferms O’E ‘ l . We can do Somewl’taé

baE l:e,r“, L\owevz r.

Firsb, t\ne.re is a Propar+tj that ]q(?,‘P'S
bridginﬁ the gap between the 4:w0-orgumem{:

func{i‘oh T  and the Simﬁle_maraumenb || e
() «To = X1 el
2.

Pnd how we calculate

x Ty
= 1+y over %17
(x-y) T o + y
= L33
xﬂg;lx-il .y
- { cale.?

X +Y -yl

2.

That’s 1t Thanks go Yo jo‘:» gl‘ands =3 Male Hautus.

W.H.J. F‘e\ijen 2 AJM van Gasteren
6 Seplember (996



